10.

‘ool T AT FHATATAT 31Tolol 2Mse [Aasr.

a) &r b) UTeT c) def d) gadr

‘U T Aegrar ATy 37 IrFeer Uusg fAgsr.

a) AV b) AY c) 3afarse d) fer:ery
gBED Bl SR Gl FgUTS

a) ShIc b) FEROM c) Jfcshlcir d) Scshlcir

Grellel Fguirear ATl JSURT T2y =asT.

ATIAT ASAT 33T dTehs

a) Il HIhsrel il b) SlegdTell GI&T 3T&c
¢) IRTAT 3TeTT Sidl ¢) IRTIAT HATT dEOT

qélel AT dIR FTelel [aLAoT 3.

qegd

a) ggcl b) JeuaeiR SREAGICH d) Uegddrss
Telleliehl ‘37907 [Tl &Y 3Eelel dTery foidsT.

a) A SIS arad 374, b) HY SEe ardel,

c) # FIEaE arAad gidr. d) #T sl ardelr aidr.

Grellel 2rser=aT Gelar AT AT fagsr
aY . FhY
a) dI.shY b) dIchI c) dIgENY d) dI:Sh

T 3NSET
a) 3THhA® BT b) ol
c) THHAD HT d) &

Choose the Correct Synonyms

Blunder
a) Correct b) Real c) Mistake d) Strong

Choose the Correct Antonyms
wild
a) Familiar b) Domestic c) Mild d) Noble
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11.

12.

13.

14.

15.

16.

17.

Choose the Correct Meaning of idiom or Phrase

‘Gift of the gab’
a) Art of speaking b) Art of dancing
c) Angry young man d) Kill Joy

Proficient in many languages means?

a) Genocide b) Virtue c) Moral
Find out the group which contains error
Mother / is coming / today / No error

a) b) c) d)

Find out the group which contains a mistake

d) Linguist

The old man / together with his son and nephew / were drowned / No Error

a) b) c)

Choose the correct preposition and fill in the blanks
He stood Mahesh and Raju
a) among b) between c)in

gl sfacaadiar fo@m aifecy
a) HIETG T AT el HYST AMT ST 3.

b) UURH FAEINUNGA HEIG Felidell Sl W T Il UGS ATg  Feldlcl 3.

c) sTAfRITRIATAT @O el 3799Td Acgdl.
d) Irdehr ATEr.

Writing instruments in ancient Egypt are........... ?
a) Paper and ink is ordered from China.

d)

d) into

b) Paper is made from Papyrus plant and ink is made from carbonblack.

c) Egyptians are unaware of the art of writing.

d) None of the above.

TATHTAT YRATHPAT WTelled ATl eIl SIS,
a) A b) 3Rl c) hm

The administrator of Athens is called as ................ .
a) Mayor b) Archon c) Cairo

d) IRy

d) Paris




18.

19.

20.

21.

grdiel sTocaadier Rehead Fgural Fra?
a)aﬁﬁfro_-l'l_d

b) ITUIT 19

c) =l e

d) ATFaTd 3Th T fAgTd R 3rere &S e

What is sphinx in ancient Egypt?

a) Name of Goddess

b) Name of the animal

c) Place of prayer

d) Stone statue having head of human and the body of lion.

YA HEH 3T cTIgRIT Wlellel Helelrel aTR T SATell?
a) 9T AR b) STer dis

c) ToRT heh d) FellRe SgHIC

Which currency from the following is started used in the financial
transactions in the end of the medieval age?

a) Rupee, dinar b) Dollar, pound
¢) Lira, Franc d) Florin, Ducat

ITIHFATT STl FgUTS 2

a) TIAT TR Hiehar

b) SR UHIEAT cqeFcilad UTIFFT STl Heloll 38l TR I 91T IS¢ IS,

¢) TATAT 3y A& IR Txiehget TRt
d) T § ASIGEAT ATAENT Th R

What is a certificate of Papmukti ?
a) The process in the court of church

b) If any person has taken the certificate of the emancipation of sin, his sins will be destroyed.

c) It means the inquiry if the misbehavior of the prist.
d) A contract between the church and Rajyasanstha.

hehd HaTedT &IETOThsTel Eleh ol MEA Flae ?

a) di&l & AT b) ®isdds Halolel

c) e shec d) srdifegd srIs
Who had discovered the southern most cape of Africa?

a) Vasco-da-gama b) Ferdinand Magellan
¢) Jahn Kabat d) Bartholomew Diaz




22. wrdicgr facATdIs @relerdehl shIvTedT ¢errd gld ?
a) ¥ b) diIfamTel o) sfora d) &l

Where was the Cadiva University?
a) Spain b) Portugal c) Egypt. d) Syria

23.  ToTHCACS Wlellel FoAHead IEYRICAT 7S HITATA 3Tell.
a) 14 b) 17 c) 21 d) 27

By which section of the constitution untouchability is eradicated?
a) 14 b) 17 c)21 d) 27

24.  @releTdehr IOTCAT HERIId FcheT ollehelTgl Hecedrd gicl?
a) A b) JHT ¢) 9RAT d) ARG

In which of the following civilization direct democracy came into existence?
a) Greek b) Roman ¢) Indian d) Sumerian

25. TAFHH ALY TEUTAT TFdT HRAR ARTRecd Tl dedleeR fHarer ?

a) fEaspclicea b) UG HIHTGROT

c) sigufided d) cIT HRAR dRTR&cd fASTer AT,
By which principle the person living in Sikkim gets the citizenship of India?

a) Principle of acceptance b) Merging of the territory

¢) Principle of registration d) They haven’t got the citizenship of India

26. W¥C SiofHT & Yy T @relidd vl Tad ga?

a) oli3=Tsf g1 fegear b) el

c) ShfRA3N d) AT 3itell
Who painted the well known picture ‘ Last Judgment’ ?
a) Leonardo da Vinci b) Rafel.

c¢) Boccacio d) Michel angelo

27.  dAT&H FRBMATAT Wrelleldehl Teh fqeTel Iqeh 3MTe.
a) dfeeh HIBIT STl A T ATl STl A4,
b) 39X dfew Frewra guisa Teed [ fAd smen.
c) e HEH & arHIOT HEFA B
d) dfcew Ferd Tt g FTafdaeT Tt g

Which one of the following statement is false about the Vedic Period?

a) Kings are supposed to the son of God in Vedic Period.

b) Varnasharam system was developed in post vedic period.

¢) Vedic civilization is the rural civilization.

d) In Vedic period there was a system of Sati and child marriage.




28.

29.

30.

31.

32.

33.

GTelloTdhl HIVTT Teh TATHALMEITAT FIATT HRUT Acgd?

a) JAdIsT SURT Fa=T 3¢9.

b) TRTcHeT RIRTA T HEHA HENH Teb Tredreeiiel aiged.
¢) SIS FTIA-d T AT 7§ dcd Fofell.

d) IRIHAT AT ATATRMEIE STeaieEd dsr@r e

Which of the following is not the cause of the destruction of feudalism?

a) Rise of new business class

b) Religious wars between Christians and Ottoman Muslim Turk in Europe
c) The principle of liberty and equality are spread due to awakening.

d) Roman empire gave a strong hit to feudalism

STBBAT TEIT ARATIT I HIUTAT AR e ?

a) @ar b) grrdT c) gerar d) ETqar
According to area India is on ----------- rank in the world.
a) fourth b) fifth ¢) sixth d) seventh

Trelleldehl VAT TS ‘Fiisasd T FEURT HSWe STl ?

a) qdesiel TS b) giRTHASST TS
c) 3TFIT TS d) GiauThsTel @3
Which of the following Continent is known as ‘Gondvan Bhoomi?
a) Eastern Continent b) Western Continent
c¢) Northern Continent d) Southern Continent

‘FISTShedlel’ & U3 §ad TSHIUT HIUTT IS IR ?

a) INB SIGUEC-TIES c) amar d) 3TerSeer
Kodaicanal hill station isin .............. state.
a) Kerala b) Tamilnadu c) Goa d) Andhra Pradesh

TSI RIUTAT IIaFT FIIH Thiwaierd 39drd.

a) TRATEY b) feATIT c) Rrarfas d) I @d

Which of the following mountain ranges are always covered with snow?

a) Himadri b) Himachal c) Shivalik d) All the above

AT TeRISTacdlel Iehd AU WTeiTeTdehl SIUTAT A& 3ITH Traa?

a) ReTe b) ey o) e d) feame
Which of the following river starts from Rakas lake, near Manas lake?
a) Chinab b) Ravi ¢) Sindhu d) Biyas




34.

35.

36.

37.

38.

39.

40.

SEEYAT ACTell AT AT Wrellerdehl 1S A+ Aad ?

a) ST b) 3TTETH ¢) AU d) B
Where did river Tista meets river Brahamputra?
a) Bangladesh b) Asam c) Meghalaya d) Tripura

HRATAT FaTd AYS WRAT 90T AT TG IS 3 ?

a) SRAN b) FTRU ¢) TSTEUTA d) ATfABeTg
Where is the India’s biggest salt water lake, Sambhar?
a) Kashmir b) Uttar Pradesh c) Rajasthan d) Tamilnadu

GrellerdhT IoTcr AfSTE THard Fud 3me?

a) goll3tell galm b) TRMAAR
GIGRETI d) Ba9X fashr

Which among the following mosque is located in the middle of sea?
a) Hajiali Dargah b) Charminar

c) Lal Quila d) Fatehpur Sikri

i gaTfes 3cdred HIvTeAT AATd Bl ?

a) D b) ATfAw=ITg c) gfeasd S d) el
Which state in India produces the most silk ?
a) Kerala b) Tamilnadu c) West Bengal d) Karnataka

S HETGI FeTETcH HIVTCAT AT 3Gl ?

a) dIfASTS b) B c) 3T d) FdATch

In which state does dry evergreen plants find?
a) Tamilnadu b) Kerala c) Asam d) Karnataka

GTellel G Hhard Tehl AR 316 39 I 3.

a) { 0,1,2} b) { 1,2 }

c) { 8} d) {1,2,3,4,5,6,7,8}
Which one of the following set has eight sub sets of single set?
a){ 0,12} b) { 1,2 }

c) { 8} d) {1,2,3,4,5,6,7,8}

a=0.7 ~ 2a =?
4

a)1 b) 1. c)1.54 d) 1.45




41. /8 +4/32-V2 T AT & ................ 3R,

a) V2 b) ¥/5 c) V2 d) IrT FATEY.
Simplest form of V8 +v/32 -2 is c.covccvveeeane.
a) V2 b) /5 c) 'V2 d) None of the above

42.  \3x2 +4x+ V3 o I9Iq9

a) (x+v3) (V3 +1) b) (x+v3) (V3x +2)
o) (x+v3) (V/3x +3) d) ATt AT

Factors of the V3x2 +4x + V3 are ............

a) (x+v3) (V3 +1) b) (x+v3) (V3x +2)
) (x+v3) (+/3x +3) d) None of above

43. SR (x+y+z)=10 MO (xy+yz+2zx) =25 RN
(x3+y3+23 — 3xyz )@ Faa ?
a) 125 b) 250 c) 175 d) 260

If(+y+2z)=10and (xy + yz + zx ) = 25 then find out the value of
(x®+y3+23 — 3xyz ).
a) 125 b) 250 c) 175 d) 260

44) Grelldl Teh ATHISH FHAIOMT 3l Tolgl.
3x—-2y=-12 ,x+6=y
a)(3,1) b) (0,6) c) (6,0) d)(6,1)
Solve the following simultatious equation and write down the solution of it.
3x—2y=-12 ,x+6=y
a)(3,1) b) (0,6) c) (6,0) d)(6,1)

45. (3,0), (0,4)% &g Ax+By =12 A1 W’ 3qcA X AN B =aT fhaAch farer 2

a) (A=0,B=4) b)(A=3,B=0)
c) (A=4,B=3) d(A=3,B=4)
If point(3,0)and (0,4)areonline Ax + By = 12, then find out the value of A and B.
a) (A=0,B=4) b)(A=3,B=0)
c) (A=4,B=3) d(A=3,B=4)

46. QT HEITY AUNR 7:3 30Ge AT HEATCST Heh 60 3. TR Tciiel AIST HEAT HI0TcA?
a) 45 b) 70 c) 90 d) 105

The ratio of two number is 7:3 and the difference between these two number is 60. Then which is
the biggest number?

a) 45 b) 70 c) 90 d) 105
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47.

48.

49.

50.

4.8 , 6.0, x,8.5 IJTHEIT AU AT o x o7 fhAd T ?

a) 5.5 b) 6.0 c) 6.8 d) 12
4.8, 6.0, x, 8.5 are in proportion then what is the value of x?
a) 5.5 b) 6.0 c) 6.8 d) 12

9,7,9,8,5,9,4,8,9,9m€n3,?ﬂ?ﬁ39mqmm€ﬁ

a) 5 b) 6 c) 4 d) 3
What is the Maximum frequency of 9 in the given data.

9,7,9,8,5,9,4,8,9,9
a) 5 b) 6 c) 4 d 3

SIS 3Mehdlld ZEBC = 4x , ZABD = 6x 3701 ZLABE = 60°
X ZABC =?
In the adjoining figure ZEBC = 4x , ZABD = 6x and £ABE=60°then ZABC =?

B

a) 108° b) 110° c) 48° d) 36°

AABC AEI LA = 90°, /B T £C U GHTSTh WERTAT * O ' NgaAed

In AABC ZA =90°, intersectors of /B and ZC intersects each other in point B.
Then ZBOC = .............

a) 45° b) 135° c) 145° d) 125°
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51.

52.

53.

AABC HEJSTS] AB = ST5[ AC foig M @ N & I aIs] ABT
ST AC I HEITG 3Te o dT AANB = A AMC HISTHERET = ............

A

a) ShidTer b) STETET c) IpraT d) EFU‘rﬁiGlT
In A ABC side AB = side AC. Point M and point N are the midpoints of side AB and side AC
respectively. Then the test for AANB = AAMCiis ...............

A

a) ASA b) SSS c) AAS d) hypotenous-side theorem

“ C’ g Tl qd;oolqi‘m A TSgeT IS AB &1 F9TTehT 31Te.

BC =10 @#T AB= 53#T & T3=ar CA = ?

a) V5 b) V3 c) V3 d) MY ATEY

Line AB is the tagent in point A of the circle having center C. BC=10cm, AB =5cm then
radius CA="7

a) V5 b) V3 c) 3 d) None of these

SR el TET Sl THET AT ol AT Welleldehl HIoTeaT 3MTehell
fAzara?

a)ﬂ’lﬁﬂﬂﬂﬁﬁﬁw

b) Teh URH T AT &Tthes GHAT HEMAT 1/3 HET 3.

c) &l 3

d) adrerdehr &a.

If a square is cut into two congruent parts which of the following figures will be obtained?
a) two equilateral triangles

b) a square having an area ii 1/3 of the area of other part

c) two rectangles

d) all the above




54.

95.

56.

57.

58.

59.

60.

TYGEY AU FATR Ga&T AU gIogredm f5had Fry FgoTrd?

a) FMaUTeig b) Tl ¢) gduTlsh NESIGGIED
What does the Process of conversion of solid wax into liquid wax?
a) Freezing point b) condensation c) Melting Point d) boiling point

TS Yl gy el fahdr 3@a?

a) 1 AR b) 0.5 HTIshIeT

¢) 0.25 AT d) 0.025 AT

What is the length of observable light waves?

a) 1 micron b) 0.5 micron ¢) 0.25 micron d) 0.025 micron
CANSTH YT S IR Fledl Ad, UTqedm AT JUITHTH HIT FgOTAT?
a) gufaar b) SHISTTT c) TegasToT d) degdr

o

Thin wire can be obtained form platinum metal. What is called to this
characteristic of metal?
a) ductility b) hardness c) brittleness d) flexibility

5.9. 1803 #EY yyHA HUIfAcEId HIol ASAT?

a) SiieT 3TecsT b) 3ei¥C FEIHIS
c) A UTHATT d) #red g

Who stated first the atomic theory in 1808 AD?

a) John Dalton b) Ernest Rutherford
c) John Thomson d) Bill Maher

g0a da Hurear 9 grasara?

a) grofr gefr b) grofr c) IeAEqdr d) 9ol fAfeRT
In which tissue do chlorophyll find?
a) Animal cell b) animal c) plant d) cell wall

ST gA™ 247 NTFR HI0T?

a) 9% ANideidg b) % TR

c) IETAT HETER c) M qeur

Who was 24t Tirthankara of Jainism?

a) Guru GovindSingh b) Guru Nanak

¢) Vardhman Mahaveer d) Gautama Budha

AR BT v, Gilarar 3ol 3cargedh 3H1g?

a) |l b) feaR c) JHH d) og
India is the worlds leading producer of these mineral ................... ?

a) Gold b) Silver ¢) Mica d) Iron

10
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61.

62.

63.

64.

65.

66.

67.

68.

3T fhedr ol Srerer?

a) QgsTar b) gAY c) STeRiR d) 3T
Who built Agra Fort?
a) Shah Jahan b) Humayun c) Jehangir d) Akbar

AL FEUTS S?

a) STherg gfsefrar b) 3TeT e$T WanfAaT

c) SlegHT TEY WATHeT d) fBfSee e=afAesT Nelsre
D.T.P. Computer obbreviation usually means ?

a) Desktop Publishing b) Data Type Programing

c) Document Type Processing d) Digital Transmission Protocol

Ir HARMT FEAT 318?

a) ¥ b) 3R
¢) faeurgs d) T ATEY
Speed is related with.............
a) Second b) Distance
c) Displacement d) None of these
TF 7gCed FEUTS fohcll STSeT?
1 Newton = ............. Dyne.
a) 10° b) 10° c) 106 d) 108

IRTd AW €Tel Tl Thod S 3TE?

a) IR b) JsTehle c) 3G d) aeig
Where in Gujrat is the TATA Nano plant located?
a) Shingur b) Rajkot c) Anand d) Sanand

8,9 8,7 10, 9, 6, 11, 10, ?, 12

a) 5 b) 7 c) 8 d) 11
A B, D, G, ?
a) M b) L c) K d) H

HRATT TN IR e ool Iod FE dhell?

a) oif& Fegey b) W Pisfareia

c) oS sergi d) areT g

Which British Governor — General was responsible for the introduction of Railways in India?
a) Lord Clive b) Lord Cornwallis

c) Lord Dalhousie d) Warren Hesting

11
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69.

70.

71.

72.

73.

IETT o SHUIRT Asc, fiaer.
a) HATar b) frar c) TS d) STty

UATegIedT SR I 3AY QMeT.

Find out the answer in place of question mark.

7 4
5 5

a) 10 b) 11 c) 12 d) 13

SR + FEUTS AR, X FEUTS gdolldlenl, + FgUTal I[OTHR 3TTOT 2 FguTe 3if8eh a¥ 8 +
6 x4 +3-4="FfR
a) -12 b) 20/3 c) 12 d) -20/3

If + means divided, x means subtraction, + means multiplication and '-' means addition then find the
valueof 8 +6 x4 +3-4.
a) -12 b) 20/3 c) 12 d) -20/3

e g7 FAredT aaredT geue 3Tg. dlel awigdl of farear aaredr favqe a3 gidr
I a3 37 Rt 3me?
a) 12 @Y b) 8 A ) 7 a¥ d) 6 a¥

Sita’s age is double than Gita. Before three years her age is thrice that of Gita. Then find out the
present age of Sita?

a) 12 Year b) 8 Year c) 7 Year d) 6 Year

<

ool 3Tehcitel TAehIoTT SrEc ST |&T foheil?
a) 34 b) 36 c) 38 d) 40

<

What is the maximum number of triangles in the above figure?
a) 34 b) 36 c) 38 d) 40

[ =)



74.

75.

76.

77.

78.

79.

80.

TR T THTRAT SI0TeAT Tearear digedr Al HEIHAT §icar?

a) BArTS b) TSTEAT Cc) HETYCRT d) AERTSE
Vasundhara Raje Scindiya was the first female Chief Minister of which state?
a) Chhattisgarh b) Rajsthan

c) Madhyapradesh d) Maharashtra

GeleT g AUIIshA Teh FIlc FITdT 37Tg 30T Wiefel ThIVToolHd! 3¢ R dallciiel Holrar
e fhdr?
a) 62 b) 63 c) 64 d) 65

Sulbha is sixth in the class rank and fourty nineth rank from the last. How many girls are there in the
class?
a) 62 b) 63 c) 64 d) 65

SET 20 # 3Tehs IS ATeld Iell, Fc dl cAredr SMdlehs del 40 #HI e @leld
eI, GogT oY STiehs dgel EXd 20 # HTelcl A.ITAT dl 3oTdiehs daget 20 Hl W
Tl AT X Al femeledr fSRomageT favc 3icRTeaR 3mg?

a) 60 #Hr b) 50 Hr c) 30 #r d) 20 #r

Pradip walked 20 meters straight to the north, then he turned to his left and walked 40 meters
straight. Again turning to his left he walked 20 meters. Now he turned to his right and walked 20
meters straight. How much distance is he from the starting point?

a)e0 M b) 50 M c)30M d)20M

2 3fferetaX 2000 s WHAR gIAT @ 10 S 1998 Asil HIVIAT aR gler?

a) HIHIR b) Ifaar c) YehAR d) Afar
There was Monday on 2 October 2000.Which day will be there on 10 July 1998?
a) Monday b) Sunday c) Friday d) Saturday

fadera el 3.

Find odd figure out.

a) b) c) d)

8:28 :64:7
a) 105 b) 120 c) 216 d) 126

EGIK : FILO : FHJL : ?
a) GMJP b) GJMP c) JGMP d) JGPM

13
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81.

82.

83.

ard HATHES A g1 E 98T 39 317, W B gl 39 AL, C 8T D 98Tl 39 377g. 9oT E
Jell geehl 37Tg. o AT el 3 0T 3TE.
a) A b) B c) C d) E

Out of 5 students A is taller than E, but not as tall as B. Cis taller than D, but shorter than E. Then
who is the tallest among all?
a)A b) B c)C d)E

Uehl Hichfder AT LIKE & s FLIM 3/ T fafgdrd O O diehfde #™d COMB &
eree, AT Tofgdrd.
a) DNPC b) PDNC c) CNDP d) CNPD

In a certain coded language LIKE is written as FLJM. How would COMB be written in the same
coded language?

a) DNPC b) PDNC c) CNDP d) CNPD

TRFATITgreaT STl AUTRY 3HTehell AT 2Me.

TR 3Tl
s X | 2
5 o
| K| KK
a) b) c) d)

Find the figure at the place of question mark from the options.

Question Figure.

5| 2K

2]

?

Answer Figure.

©

X

X

X

d)

——
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84.

85.

86.

87.

GrelTordehl 10T deT 3Tkl feeiear el TeshiAtiel ddlda detr  gefaa?
MR, el , HIST

CO© €9 @O
a) b)

c) d)
Which of the following Venn diagram will represent the three things
perfectly?
Carrot, Meal, Vegetable

CO© €9 @O
a) b) d)

c)

THT BICIhs SIC ST AR FgUMAT ‘ol AT TSNS ThelcdT Teh Heardl Herdfr
3’ &R T Wiekde I et AR AT FrRI?

a) gsrel b) Heram ) HIF d) e

Showing a finger to a photo Shashikant said, ‘She is the daughter of my

grandfather’s only son.” Then what is the relation between the woman in the

photograph with Shashikant?
a) Father b) Son c) Brother d) Nephew

2014 ALY FGAT 29 I T FgUT AT fA@ee o H0Ta?

a) doferom b) IATTHTAT c) RIS d) Irdehr STEr
In 2014 which state has got the permission as the independent 29t state?

a) Telanana b) Rayalseema

c) Andhra Pradesh d) None of the above

2014 I7 g e Hide REHR HIOTH Feld FI0ITT 3Tell?

a) ATHRCEIST2AET b) STOT

c) Ga3iTeg d) e
Dadasaheb Phalke award 2014 was awarded t0 .........cccceuneennnenn. .
a) Naseerruddin Shah b) Pran

c) Dev Anand d) Gulzar

15
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88.

89.

90.

91.

92.

93.

94.

3RfAE Hoiarel AT TATYT holell Y&T HIUTaT?
a) SllholeTQreFdr grel b) ISET AT 9TET

b) 3TH 3TeAT aréf d) SiefHarg 9réf

Which party was founded by Arvind Kejriwal?

a) Lok Janshakti Party b) Rashtriya Janta Party
c) Aam Aadmi Party d) Jan Sanwad Party

GTRTOT RATET 39T FFULT IO AGT NBWeN ST ?

a) IR b) IMeTaRT c) oI d) IRIR
Which river is known as Ganga of South India?
a) Kaveri b) Godavari c) Krishna d) Periyar

AT IRETOT AT 31€T8T HIUT gd?

a) IRIG HeH b) AT I® AT
¢) ARTIOT oY d) fSdg 3Megre
Who is the president of Maratha Arakshan Committee?
a) Patangrao Kadam b) Vinayak Mete
¢) Narayan Rane d) Jitendra Awhad

ST arelr srorer Hrer geerl gefaa 3me?

a) gl b) Me® ¢) faers d) ST
Which type of sport is related with Ronjan Sodhi?
a) Hockey b) Golf c) Archery d) Shooting

FHGSTT IT HiGad oI@eh 0T e

a) fRrarshy @rdd b) faeara urérer

c) 0TS ¢aTS d) Irhr AT
Who is the writer of the novel ‘Mrutinjay’?

a) Shivaji Savant b) Vishwas Patil

c) Ranjit Desai d) None of the above

Alegel 2013 HEY SETicieh getiiees TTUT AR HIUCAT AT IR ISell?

a) ShreTehall b) oI SICEICIR d) deeTg
In which city of India the world chess competition November 2013 was
completed?

a) Kolkata b) Pune c) Banglore d) Chennai

Grellerdehl 0T AT ASATSAT TSRT YG2ATe aTgd el ?

a) I b) WarT c) g d) qoit
Which of the following river does not flow through the plateau region?
a) Koyna b) Pravara c) Surya d) Poorna

16

——
| —



95.

96.

97.

98.

99.

IRl Fafed REPR ACTHS’ Tehclle HIUIcTT A GhE STER STell 37g7?
a) SI. STeTdg AATS b) 1. 37T.§. Hlgh
c) TelATT IEr d) W.HEeAg AR

Which of the following famous writer is declared as the winner of highest award of literature —
‘The Dnyanpeeth’

a) Dr. Bhalchandra b) Dr. A.H. Salunke

c) Salman Rashdi d) Pro. Sadanand More

IENYTS el dadl ASeTcive $NIAUIRT SafFd shror ?

a) SI.IigwdTe b) ST.TH ITLTHSUT

c) g‘fgrrcﬁig'é?r d) 31.eEGATS AT
Who was the President of India for two consecutive terms?

a) Dr. Rajendra Prasad b) Dr. S. Radhakrishnan

c) Dr. Zakir Husen d) Dr. Shankerdayal Sharma

2013 #7ed #AE YAegd T sRar gfafathca sorer
FAERTSEIGT FHellad Fhol?
a) 3R AY b) fe=Tr fare c) 3R AT d) A He

Which Maharashtrian girl represented India in 2013 Miss Universe
Competition?
a) Arti Meghe b) Heena Sindhu c) Arti Sharma d) Mansi Moghe

AT AGRISSIA UHUT Nehf A forel AdGR €e 31mgar?

a) 47 b) 48 c) 49 d) 46
Now how many Lok Sabha Constituencies are there in Maharashtra?
a) 47 b. 48 c) 49 d) 46

2014 =1 SehasT fAasurhTd UL aMEN el AT AAGREETL

o o
GEESCE oladell?

a) RTOTHT b) TS c) RS d) feeelr
From which constituency Rahul Gandhi fought election of Lok Sabha in 20147
a) Varanasi b) Raebareli c) Amethi d) Delhi

100. SREAT FHIAIG HTIUTRT gfgell HRAT Afger ior

a) AT FYeTA b) ﬁ?@ﬂw

b) TSIl AATAg c) gfexr amed
Who is the first Indian woman to be the speaker of Lok Sabha?
a) Sucheta Kriplani b) Meira kumar

¢) Sarojini Naidu d) Indira Gandhi
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